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Page3.  Pythagoras' Theorem 1.

A.  Positive solutions only. :
n. 7 2). 10 3). 5 4. 11 5. 13 6). 3 7).
9. 12 10). 9 11). 39 12). 87 13). 6238 14). 9.8 15).
17). 58 18). 18.8.19). 280 20). 237

B. 1). r=w-t 2). s=e-d 3). m=f-q 4). c=s5-b 5).

6). f=n-j 7). v=a-c 8). y=u-x 9. t=e-d 10).
- 1), z=y-x 12). h=a-m 13). d=y-p 14). k=y-x 15).

Page 4. .
D. 12 2). 17 3). 41/ feet

Page 5.  Pythagoras' Theorem 2.

A, 1), a?=b?+¢? 2). n’=m?+ o2 3). x2=w24v? 4).
5. P=gi+e* 6). i’=g2+h? 7). e=ft+g? 8).
9). e’=d*+f 10). K*=1*+7 11). SU?=UT?+ ST? 12).

13). GI’=GH?+ HI* 14). PR?=PQ? + QR215). UT?=TS? + SU? 16).
17). ZW?=VW? + VZ2 18). VW2 = Wz2 +VZ?19).BC? = AB? + AC2 20).

21). pP=q*+12 22). AC*=BC?+AB?23). MO? = MN? + NO?
25). DF*=ED?+ EF? 26). =g + 12 27). KL?*=JL?+KJ? 28).
29). GI’=GH?+HI? 30). 2=u?+v2
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B. 1. 10 2). 13 3). 17 4). 29 5. 5 6). 37 7.
~9). 25 10). 65 11). 6.5 12). 53 13). 82 14). 85 15).
17). 122 18). 5 19). 22.2820). 18.7221). 16.6422). 8.49 23).
25). 34.99 26). 72.25 27). 48.47 28). 129.80 29).90.71 30). 14.47 31).
33). 3.89 34). 18.8735). 105.11.

Page7.  Pythagoras' Theorem 3. :

C. 1). 4 2). 24 3. 12 4. 15 5). 35 6). 48 7).
9). 13 10). 18 11). 99 12). 143 13). 16.8 14). 39.9 15).
17). 43.50 18). 16.5219). 9.39 20). 30.71 21). 76.66 22). 34.89 23).
25). 53.67 26). 19.36 27). 18.10 28). 51.85 29). 44.69 30). 2927 31).
33). 35.17 34). 17.20 35). 2.83
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D. . 13 2. 15 3). 61 4. 17 5. 16 6). 39 7).
9). 30 10). 12 11). 12.6 12). 52 13). 5] 14). 36 15).
17). 108 18). 4.1 19). 58 20). 15

¢Page 9. 'Pythagoras' Theorem. Worded Questions.
FIEE8320nr2). 22040 3)798078 7 4). 8944 ESy:
6). a). 10647 b). 340 ). 10.06 d). 3696

f. 8591 g). 12530 h). 1030 . 2173

SyEETe3 N 8). a). 721 b). 1721 e VR e pe i R
10). 111.8-164.0 '

tPage 10 _ _— ‘
A1):=38177  12). 873 A3)776.027F  14). 212323
i15)7=9.867 16). 8.66 17713707 18). 16.97 c19):

a){.

24). 0.91 25):=53.85'

20). 17.28 XD A R e S 22). 3536 23 )

Level 7/8 Pack 2. Answers. Page 1. '

15 8. 1
11.5 16). 157

u=m-p
W=g-p
d

g-f

P=p*+12
s?=t2+u?

KJ? = JL? + LK2
DF? = DE? + ER?
NO? = MO? + MN?
24). tP=u? + v?

f2= g2 4 b2
26 8). 20
85 16). 74

2247 24). 2236
1574 32). 1221

16 8). 60
36 16). 1.8
4525 24). 23.43
4749 32). 20.62

39 8). 25
82 16). 16
45.25¢

e). 6596
1
s ardnl Zecy
11.937¢
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